
Be-h@@@@us Construction Manual ©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

Construction Manual
Ver.1.0ββββ



Be-h@@@@us Construction Manual ©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

cube PARTS



Be-h@@@@us Construction Manual ©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

cube PARTS

D-JJ-30

D-JJ-40

D-JJ-50

D-JJ-60

D-UJ-35

D-UJ-45

D-UJ-55



Be-h@@@@us Construction Manual ©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

D-UU-10

D-UU-20

D-UU-30

D-UU-40

D-UU-50

D-UU-60

OB-10

OB-20

OB-30

OB-40



Be-h@@@@us Construction Manual ©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

B240-DJ-25

B240-DJ-35

B240-DJ-45

B240-DJ-55

B240-JJ-30

B240-JJ-40

B240-JJ-50

B240-JJ-60



Be-h@@@@us Construction Manual ©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

B240-UJ-35

B240-UJ-45

B240-UJ-55

B240-UU-10

B240-UU-20

B240-UU-30

B240-UU-40

B240-UU-50

B240-UU-60



Be-h@@@@us Construction Manual ©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

B180-JJ-30

B180-JJ-40

B180-JJ-50

B180-JJ-60

B180-UJ-35

B180-UJ-45

B180-UJ-55



Be-h@@@@us Construction Manual ©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

B180-UU-10

B180-UU-20

B180-UU-30

B180-UU-40

B180-UU-50

B180-UU-60

B120-10

B120-20

B120-30

B120-40



Be-h@@@@us Construction Manual ©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

CF-21 CF-222 CF-228 CFA-21

WP-1020 WP-1021 WP-1022



Be-h@@@@us Construction Manual ©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

OP-1006 OP-1007 OP-1013 OP-2007

OPS-0212 WP-0520



Be-h@@@@us Construction Manual ©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

FP-2 FP-3 階段材

OS-10 OS-20 OS-11

WPS-10 WPS-20



Be-h@@@@us Construction Manual ©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

U-max Be-120

U-max Be-180

U-max Be-240

DJK-120 BJK-180 BJK-240

PC-120 PC-120+ PC-180

M12-110ボルト

M12-130ボルト

 バネ付丸座金

 M12 ナット

 VP-10



Be-h@@@@us Construction Manual

Be-h@us

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

606 (masuzawa)



Be-h@@@@us Construction Manual

Be-h@us

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

D-JJ-30　×2

D-JJ-40　×2

D-UU-10　×6

D-UU-60　×7

B180-JJ-40　×4

B180-UU-30　×7

B180-UU-60　×10

B120-10　×20

B120-20　×4 CF-222　×46

軸組

UMP-120　×74 UMP-180　×34

DJK-120　×2 BJK-180　×4

PC-120　×86 PC-180　×8

M12-110ボルト　×7

M12-140ボルト　×110

バネ付き座金　×91

ナット　×117

VP-10　×436

金物

WP-1021　×28

OP-1007　×6

OP-1013　×2

OP-2007　×2

 FP-2　×33

 FP-3　×18

 RP-20　×18

パネル

WPS-10　×36

WPS-20　×2

OS-10　×8

OS-20　×2

補足部材



Be-h@@@@us Building Manual

Be-h@us

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

1 土台(D or B120)

2 柱(CF228)+ヘッダー(B180)



Be-h@@@@us Building Manual

Be-h@us

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

3 梁(B180)



Be-h@@@@us Building Manual

Be-h@us

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

4 柱(CF222)+ヘッダー(B120)



Be-h@@@@us Building Manual

Be-h@us

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

5 梁(B180+ B120)



Be-h@@@@us Building Manual

Be-h@us

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

土台接合



Be-h@@@@us Building Manual

Be-h@us

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

B240接合



Be-h@@@@us Building Manual

Be-h@us

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

B180接合



Be-h@@@@us Building Manual

Be-h@us

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

ヘッダー接合



Be-h@@@@us Building Manual

Be-h@us

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

梁ヘッダー、受け梁接合



Be-h@@@@us Construction Manual

Be-h@us

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

6 補足部材(WPS,OS)



Be-h@@@@us Construction Manual

Be-h@us

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

7 外壁(WP,OP)



Be-h@@@@us Construction Manual

Be-h@us

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

8 床(FP)



Be-h@@@@us Construction Manual

Be-h@us

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

9 屋根パネル(RP)



Be-h@@@@us Construction Manual

Be-h@us

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。



Be-h@@@@us Construction Manual

Be-h@us

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。



Be-h@@@@us Construction Manual

roof PARTS

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

roof PARTS



Be-h@@@@us Construction Manual

roof PARTS

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

BN2-30

BN2-35

BN2-40

BN2-45

BN2-50

BN4-30

BN4-35

BN4-40

BN4-45



Be-h@@@@us Construction Manual

roof PARTS

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

BN6-30

BN6-35

BN6-40

BN8-30

BN8-35

BN8-40



Be-h@@@@us Construction Manual

roof PARTS

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

BT2-30

BT2-40

BT2-50

BT2-60

BT4-30

BT4-40

BT4-50

BT4-60



Be-h@@@@us Construction Manual

roof PARTS

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

BT6-30

BT6-40

BT6-50

BT6-60

BT8-30

BT8-40

BT8-50

BT8-60



Be-h@@@@us Construction Manual

roof PARTS

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

BK2-30

BK2-40

BK2-50

BK2-60

BK4-30

BK4-40

BK4-50

BK4-60



Be-h@@@@us Construction Manual

roof PARTS

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

BK4-60

BK8-30

BK8-40

BK8-50

BK8-60

BK4-30

BK4-40

BK4-50



Be-h@@@@us Construction Manual

roof PARTS

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

CF-06

CK- 03 04 0605 07 09 11 13 15 18 21

CN2-02 CN2-04 CN2-06 CN2-08

CN4-04 CN4-08 CN4-12 CN4-16

CN6-06 CN6-12 CN6-18

CN8-08 CN8-16 CNP8-24



Be-h@@@@us Construction Manual

roof PARTS

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

CM2-06 CM2-07 CM2-08 CM2-09 CM2-10

CM4-12 CM4-14 CM4-16 CM4-18

CM6-18 CM6-21 CM6-24

CM8-08 CM8-12 CM8-16



Be-h@@@@us Construction Manual

roof PARTS

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。

TB2 TB4 TB6 TB8

MB2 MB4 MB6 MB8
RPS

RP-10 RP-20 RP-25

TWP-1015L

TWP-1015R

TWP-1023L

TWP-1023R



Be-h@@@@us Construction Manual

roof PARTS

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。



Be-h@@@@us Construction Manual

roof PARTS

©©©©LANDship architects inc.      fuk@

Be-h@usの仕様は予告無く変更されます。


